
http://www.adobe.com/support/techdocs/316508.html


® PATIO BENCH
Issue # 277     Volume 59     Number 3 MAY / JUNE 2003

Page 1 of 2
Copyright 2003, August Home Publishing Company.

All Rights Reserved.

MATERIAL AND HARDWARE LIST
A (2) Rear Leg (2x6) 11/2" x 51/2" x 305/8"
B (2) Front Leg (2x4) 11/2" x 31/2" x 223/4"
C (4) Seat Support (2x6) 11/2" x 51/2" x 193/4"
D (2) Back Support (2x6) 11/2" x 51/2" x 201/8"
E (1) Front Rail (2x4) 11/2" x 31/2" x 48"  
F (1) Rear Rail (2x4) 11/2" x 31/2" x 461/2"
G (2) Arm Rest (2x4) 11/2" x 31/2" x 231/2"
H (1) Bottom Back Slat (1x6 decking) 11/16" x 31/2" x 491/2"
I (10) Common Slat (1x6 decking) 11/16" x 21/2" x 491/2"
J (1) Upper Slat (1x6 decking) 11/16" x 51/8" x 491/2"
K (1) Front Slat (1x6 decking) 11/16" x 21/2" x 461/2"
L (2) Arm Bracket (1x6 decking) 11/16" x 1" x 6"
M (3) Decorative Diamonds (1x6 decking) 1/4" x 1" x 1"

HARDWARE
• (16) #10 x 3" Stainless Steel Screws
• (10) #10 x 21/2" Stainless Steel Screws
• (4) #10 x 2" Stainless Steel Screws
• (8) #10 x 11/4" Stainless Steel Screws
•(102) #8 x 11/2" Stainless Steel Screws
•(140) 3/8" Wood plugs, 5/16" long

BENCH CONSTRUCTION VIEW



® PATIO BENCH
Issue # 277     Volume 59     Number 3 MAY / JUNE 2003

Page 2 of 2
Copyright 2003, August Home Publishing Company.

All Rights Reserved.

CUTTING DIAGRAM




